G4-Ml-Lesson 19

1. Using the diagram below, create your own word prablem, Solve for the value of the variable, T,

There are 28, 596__pegple who work for 2‘8)586

Compuny A. There are 26,325 more geepie 26,325

whe work for Company B thon Componv A. _ > T
How many people work for the two companies in fompony B

aif ?

After analyzing the tape diagram, | create a context for a word problem and
fill in the blanks. | write “how many in ali” because the total, T, is unknoewn.

Compony B = 28,596 + 26,325 T = Company A + Company 8
2 8 5 9 6 5 4 9% 2 1
+ 2 &6 3 2 5 + 2 8 5 9 6
i 4 % 1—131 i
5 4 92 2 1 8 3, 5 1 7

83, 517 people work for the two companies in oll.

2. Use the following tape diagram to create a word problem. Solve forthevalue of the variable, 4.

l'analyze the tape diagram. | find a context,

- i - and write a word problem based on what is.
e known and what is unknown. 1 label the parts,
First Account
Second Accourt ' _ Mr. W hod 3 bank gecounts with o totel bolance of
— $100324 4100 324. He had $24, 841 in his third account
Third Account and $12 952 more i Bis second sccount than i his
e $12,952 third occount. Whot was the bolonce of Mr, W's
Y first gccount?
$24,841
2 3
12 9 5 2 3 7 7 9 3 s aw 1z 12
+ 2 4 8 4 1 + 2 4 8 4 1 1 e e 5 2 4
3 7 7 9 3 6 20 6 3 4 -— 6 2 6 3 4
3 07 &6 9 9

Mr. Ws first account hod a balonce of $37, 690,

32 tesson 19: Create and solve rulti-step word problerns from given tape diagrams and
equations,
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